1 000 D(2010/10/06): 00 OO

000,2010000000 DOOODODODOOOOO0OOO BOOOoOOoOooOoO.

goon

oooooboobobo,0ob0boobobooobooo:

1] 00000,000000,000000
[2) 00O0,0000,000000
[3) 0000000000

00 [2)00000000000000O00O,0000000000000. 000O0O0ODO,0D0
000000000000000000000O000O0000, 0000000 [1Jo00DD0O000
0000000000000 000 (0000000000000 OOOO,00OoO0OooO).
000 [3]00,0000000000,0000000000000O0O0OODOOODOO.

goodoooooooad

M,R)O nxnO000000000.

(1) GLo(R) := {g € M,,(R) | det(¢g) #0} 0,000000000000, M,(R) (=R"") O
00000000000000000.

GL,(R) 000000 00000 000,

gl,(R):=M,(R)0DDD000000000,0 [X,Y]:=XY-YX0OOO.

gl,(R)000000,0 [[]000000000000 000000 00O,

0000000000000000,0000000000000000.

2
3
4

(
(
(
(5

—_ ~— ~— ~—

goodoooogd

000000 ¢~-00000000000000.
() G0 000 00,000000000,00000000000000000.
(2) 000000000000,

(3 g0 D000 O0O,000000000,0000000000O00OOOODOOOOO
go.

() 000000000000 O0O0O.
(5 000000000000, 00000000000000.
() J0DO00O0OO0OO0OOODO0ODOD,00000000O0O0OO0O0ODO.



2 000 D(2010/10/13): 00000
gooooood

00 2.1. GL,(R) :={g € M,(R) | det(g) # 0} O 00000 (general linear group) 0O
0.000 M,(R)O nxnOO0O0OOOOOOO.

GL,(R)0000000000000000.00000000000,000 M,(R) (=R")
0D0000000000D0000O00.

o0 2.2. GL,(R) 000000 00000 (linear Lie group) OO 0.

goodoogd

0 23. 000000000DOO:

(1) GLn(R),
(2) SL,(R) :={g € GL,(R) | det(g) =1} (0000 (special linear group)),
(3) O(n) :=={9 € GL,(R) | 'gg = I,} (00O (orthogonal group)),
(4) SO
(5) O

4 (n) :=SL,(R)NO(n) (00000 (special orthogonal group)),
5 0000000 Hz; (DODODDOOD00O0):

o0 24. 000000:

(1) O(n) = {g € GL.(R) | (9X,gY) = (X,Y) (VX,Y € R")},
(2) SO(2) = {R(6) € GL(R) | € R}, 00000 O

| cos(f) —sin(h)
R(6) == [ sin(f)  cos(0) ] '
gobooooood

025 . AeR\QUUDO.OUDOUODODO GA0O,GLy(R)D0D00D00DO0OOOOOO:

Gy = {[ B(=) R(MH()) € GLy(R) |6 € R}.



3 000 D (2010/10/20): 00000 (2)
gooodood: goooodgo

00 3.1. GL,(C) := {g € M,(C) | det(g) #0} 0 0000000 O0O0. 000 M,(C)O
nxnO0000000000.

GL,(C)0000000000000000.00000000000,000 M,(C) (=C")
00000000000000000. GL,(C) 000000000000,00000000:

1 GLA(C) = GLon(R) : A +iC [%@} .

00 3.2. 0000 f:GL,(C) - GLy,,(R) 0000,000000:
(1) fO000,0000,
(2) GL,(C) 0 Im(f) 000O0O0O0D0D0O000O0O0OODO,
(3) Im(f) DOOOOO.

00 3.3. GO GL,(C)000000000.0000,G0 (000000,0000 fO000O0
0 f(G)0)00000000.

0 34. 000 (0O0OO f000D0)00000O0ODOO:
L.(C) := {g € GL,(C) | det(¢g) = 1} (0DODDOD),
(n):={9 € GL,(C) |'gg=1,} (00000 (unitary group)),
SU(n) :=SL,(C)NU(n) (0000000 (special unitary group)),
00000000 HS (D0000D0000):

]x,y,zé@}.

1
HS = 0
0
00 3.5.000000:

(1) U(n) = {g € GL,(C) | {(9X,gY) = (X,Y) (VXY € C")},
(2) U(1) = {e? € GL{(C) | 6 € R}.
(3) U(1) 0 SO(2) D0DO0DOODOOOOOODOON.

O~ 8
[l SR



4 000 D (2010/10/20): 000000

gooooooaa

00 4.1. M,(R) D0O0D0 [,]0O0D0D0O0OD00 00000000 000, gl,(R)000:
[X,Y]:= XY -YX.

0oo0oO0oooD gl,(R)0,00000000000000 (DODODOOOOOO).

00 4.2. gl,(R) 00000 g0 000000 (linear Lie algebra) 00000, 00000

ooo:
(i) g0 gl,(R)DDOOOOO,
(i) g 00000000000 (D000, VX,Y eg, [X,Y] €g).

gooougooon

0 43. 000000000000
(1) g, (R),
(2) sl,(R) :={X € gl,,(R) | tr(X) =0} (DO0O0O00DOO (special linear Lie algebra)),
(3) o(n) ={X e€gl,(R)|'X+X =0} (000000 (orthogonal Lie algebra)),
(4 0000000 b3 (000000000000):
OO0 44. 00O00O0OD0O0O:

0 =z =z
63:{|:0 0 y]x,y,zER}.
0 0 O
1) o(n) Nsl,(R) = o(n),

(1) o
(2) o(n) ={X € gl,(R) | (Xv,w) + (v, Xw) =0 (Vo,w € R™)},
(3) 0(2) =span{J}, 00D000D




5 000 D(2010/10/27): DOOOOO (2)
gobougoob: ouggood

0o 5.1. M,(C)0D00O0 [,] 0000000 0000000000 000, gl,(C)000:
[X,Y]:= XY -YX.

0000000000 gl,(C)0,0000000000000000.0000000, gl,(C)
0000000000000000000. 00,¢l,(C)0000000000000,0000
0ooo:

f i ,(C) — gy, (R) : A +iC s [ 41-¢ ]

00 5.2. 0000 f:g0,(C) >gl,,(R)000D0,000000:

(1) f000,00000,0000,
(2) gl,(C) 0 Im(f) 00D0O0O0D0O0O,
(3) Im(f) DOOOOOO.

00 5.3.¢g0 gl,(C) 00 (0)0000000,0000000000000. 0000, g0
(000000,0000 fO0000 f(g) 0)0000000D00.

0 5.4. 000 (0000 f0000)000000000:
(1) sl,(C):={X e gl,(C) | tr(X) =0} (00DDDOOODODO0O),
(2) u(n) ={X €gl,(C)|'X+X=0}(0O00DO00O00DO),
(3) su(n) :=sl,(C)Nu(n) (00DODO0DODOOODO),

(4) D0000 K (00000000000000):

f)gi{! ]x,y,ze@}.
00 5.5. 00000O0O:

(1) u(n) ={X € gl,(R) | (Xv,w) + (v, Xw) =0 (Vo,w € C™")},
(2) u(1) = span{v/~1},
3) u(1) 0 o(2) 00DDOOOD.
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6 000 D(2010/10/27): 0000000000 O00000O
gooogood

00000000, 00 ROODDODOoOOOOOOOOoDoOooO:

X _n 2 3
s _ N~ T _ rr o
n=0

3!

00 6.1. 00 A=(a;;) 0000,0000 [(aj)| = (> a;;)/?200000.0000,000
000:

(1) V(Z,j), ‘al]|§|A|7

(2) [AB| < |A[|B|.
00 6.2. XeM,(R)DO0D,00000000 (00 exp0 0D00DDO0 OODO):

o n 2 3
eXI)(X)::ZF:l—i_X—i_T—F?—F...'

n=0
0 6.3. 000000 (000 o(2)0 SO(2)000000000):

cos(s) —sin(s)

S R e R

000000000 o0oU0o0oD (boooo)

00 6.4. GO GL,(R)0000000000.000000 Lie(G) O gl,(R) 0000000
0000 (000 GOo0000000000 000):

Lie(G) :={X € g[,,(R) | exp(sX) € G (Vs € R)}.

00 6.5 (0000000). Lie(O(2)) = Lie(SO(2)) = o(2) 0O O.



7 000 D(2010/11/10): 0OOO0OO0OOO0OO0OOOO00OOO (2)
gooooodooo

00 7.1. 0000000 expOODOODOO:
(1) Vg € GLn(R), exp(9Xg~') = gexp(X)g~",
(2) [X,Y]=0000 exp(X +Y) =exp(X)exp(Y),
(3) L exp(sX) = X exp(sX).

goodoooogogada

00 7.2. Ae M,(R)0000,|A|<1000000000000 (00 logd 0000000
ooo):

(71)n+1 A2 A3
n! 2 3!

log(In + A) =)
n=1

00 7.3. 0000000 expODODOOD logO,0000000DO0CDOOO.

00 74. 0000000 expOODOODOO:
(1) s = 0000, exp(sX)exp(sY) = exp(s(X +Y) + O(s?)),
(2) mlim (exp((1/m)X)exp((1/m)Y))"™ = exp(X +Y).

——+00

ooooooooobooobono
GL,(R) 000000 GO0OOO0O,000000000:
Lie(G) :={X € gl,(R) | exp(sX) € G (Vs € R)}
00 7.5. GO GL,(R) 00000000000, Lie(G) 0 g, (R)00000000OO0.

00 7.6. GO GL,(R) 0000000, Lie(G) 0 gl,(R) 00000000000000. O
000, Lie(G) 000000000O0.

00000,GO00000000D0 Lie(G)DOODODODOODOODOOOOOOOO.OOOO,G
gooooobooboooooo,0o0vesoboOoUobDOOOOO0ODOO0. OO0 7600000,
gboboobood:

o0 77. GO00000O0O0O0O0.0g¢geGUOOOO,0000000000 0000 OOO:

ad, : Lie(G) — Lie(G) : X + gXg~*.



8 000 D(2010/11/24): COOODOUOOOOOODOOOO (3)
gdooodoooooouoooodgo
00 8.1. VX € M,(R)0DOO0,000000: det(exp(X)) = (X)),

0 8.2. 00OO0ODODO:
(1) Lie(SL,(R)) = sl,(R),
(2) Lie(O(n)) = o(n).

gooooood

00 83. 0 aeGL,(R) 0000, 000000000 [,0 000 000000 OOO:
I, : GL,(R) — GL,(R) : g — aga™".

gooboobogo,boogboooboo,obogboboobboooo.

00 8.4. GL,(R) 0000000 Gy, G, 0 00 00,00000000: Ja € GL,(R) :
I,(G1) = Ga.

0o 8.5. GL,(R)D0O0OOO0ODO G,,G, 000000, 0000000DO0DODOOO.
gboooobogboobgob. 0bbgoboooboon.

0 86. 00 Gy,G,0,0000000000000OO:

oom (4 2] o). ([ 2] ivrs)

gogodoooogd

goooobobooooo, oo bobbboooooooboboobb,bbbbo0o0oOooon
goog.

00 8.7. GL,(R) 0000000 Gy,G, 0 0000 00,00000000: 10U, (G,000
0000), U, (G, 0000000), 3a € GLL(R) : I,(Uy) = Us.

goboobogoobooboboobbooboob,o0bboooboog.

0 8.8. O(n) 0 SO(n) DOOOOOODODOOOO.



9 000 D(2010/11/24): 0000000000 OO00OO (4)
ggoooodod

0000000000,00000000000000000000000. g, (R)00000
0, ad, :gl,(R) —gl,(R): X —aeXe ' O0DO0OD0OODODO.

00 9.1. gl,(R) 00000000 gy, 9.0 00 00,00000000: Ja € GLy(R) :
ada(g1) = g2

ddduodoouuoouoouoooogaa

0o 9.2. GL,(R) 0000000 Gy, G, 000000000000000000,0000
0000 Lie(Gy), Lie(Ge) 00000000000,

000000000000, 00000000000. 000000 (ODO)OO0oDOooDOOOO
gbbooobogoboobo,ogobobggn.

00 9.3. 000 aeGL,(R)D0D00,000000: expoad, = I, o exp.

000000000,0G,, G, 000000,0000000000 Lie(Gy), Lie(Ge) OO0
oooooboobobo0o.ooboobboobooobobo,oo0boooo.

00 94. GL,(R)000D00D0 GUOUOO e>00000,000000:
Lie(G) = {X € gl,,(R) | Vs € (0,¢), exp(sX) € G}.

00 9.5 (0000000). 00 940000,G,0G,00000000,00000000
00 Lie(G1) O Lie(G,) 0000000000D0.

gbbogobogooboobbuogboooobuooboobuoob,buaobo.

00 9.6. 00000 GOODOO0,0000 exp:Lie(G) - GOO0DD00000000. 000
0,3V (Lie(G) D 0000),30 (GO000D000):exp:V —U 00D,



10 000 D (2010/12/01): OO0
gooogao

00 10.1. 00O0OODO GO OO0 OO0O:

(i) Gooooaa,
(i) GO C~-0000000,
(iii)) 00 GxG—G:(g,h)—~gh000G—-G:g—g 10 C®0000.

0 10.2. 0000OOOO:
(1) 000 R,
(2) 00000 GL,(R).

goddoooooooad

00 10.3. 00000 GOOOOO0OO0O. 000 ¢000000000000,0000000
exp: Lie(G) - GOO0D0000000. 00000, dim(G) =dimLie(G) 00000,

0 104. GL,(R)0D0D0D0O0D0OD GOOOOD,000000:

Lie(G) = T.G :={d(0) € gl,(R) | ¢ : (—&,6) = G : C*°, ¢(0) = e}.

goodoooogoogo

00 10.5. 00 f: Gy - G, 00000 0000 O00O0OO,00000000: fOOOO
o0 C*-00.00,G;0 G, 000 00000,00000000000000000O.

00 10.6. U, U, O0,0000 Gy, G, OD0O0O0O0O0DOOOD. OO f:U; —=U;000000
Oo0o0o000 ooooo,0o00o0oboogn:

(i) fO Cc~-0000,

(ii) Vg,h € G1 (gh € Uy), f(g)f(h) = f(gh).
00,G0 G,0 0000 00000,00000000: 30, (G,0000000),30, (G,
00o0o0o0o00),3f:U; —»U,: 000000.

0000000000 (000000 0)0000,000000000 (DODODOO0ODOO0O)0O0
g.goo,00o0boobooon.

0 10.7. 000 RO SO(2)0,00000000,000000.



11 000 D(2010/12/08): 0000
goooooo

00 11.1. 0000 g00 []:gxg—g00 (g[,]) 0 0000 0O0,00000000:
()o [,Joooo,

(ii)) [X,Y] = -]V, X] (VX,Y €g),

(it) [X, [V, Z]] +[V,[Z, X]| + [Z,[X,Y]] =0 (VX,Y,Z € g).

00 (i) 00 [X,X]=0000.00 (i) 0 0O0OD0O0 O0O0O. ODO0DOOO,0000000
0000000000000. 000000000 00000 OD00D00000 (Cooooo
Oo0oO0oooooooooo).

0 11.2. R*" 000 [X,Y]:=0000000000000000 (000 000000 oOoo).

o0 11.3. OO00ooooooooooon.

goodgogo

00 11.4. 0000 g1,9. 0000,
()00 f:91 —g. 0 000 00,00000000: f000,000000 (0000
X Y]) =[f(X), f(Y))oOoOoOoO),
(2) 00 f:9y—¢, 0 00 0O0,00000000: fO00D000O0DOO,
(3) g0 go0 00 0O0,00000000:3f:g,—ge:0000.

gooooobobo,oobooobbooobbo,oobboooobbooo. oog, O
goooooogo.

goodoo

gooboboooooobob,bboooobbobboooob. bboooobobboooon
O000.00000000,0000000000DOO0. 0000,000 GUOOOO,00000
gbooobodboboobuooboobo.obu,gboooboob,0oobbooboobn
obo.0b0oo,0boooo.

00 11.5 (Ado 000). 0000000 g0000,g00000000000000000
00 ¢ (cgl,(R)DDOODODO.



12 000 D(2010/12/15): 000000000000

000 (00000000)000 GOO0000,0000 Lie(G)00000000000.
0000,0000000000000:
e M:C>-0000O,
o C®(M):={f: M —-R:C>*},
e (af +bg)(p) :==af(p) +bg(p) (OODO a,beR, f,geC>(M)),
e (f9)(p) = f(p)g(p) (BODO f,g€ C>(M)).

goodoogd

00 12.1. 00 v:C*(M)—-RO peMOOOD 00000 0O0,00000000:

() v0D0D0O0O,
(i) 000000D00000,0000,Vf,geC®M), v(fg)=v(fgp) + f(p)v(g).

O0peMOOOOOOOOOOOOO T,MO00,000 000 000.

0 12.2. 000000000000 0O0O0O0OO0O0O. DOOO,C®-000 ¢:(—&e)—MOO
00,00 p:=¢(0)000000O0O0DO:

d(0): C*(M) = R: fr (foc)(0).
0 12.3. 00000000 (0000)0000000000000000. 0000, (U,e) 0
MOooooood, ¢=(2,...,3,) 00000,00 peU000000000:

() C=(M) = R f = 27 0 ™) ().

0o0 124. OO0O0O0OO0O0OO0OO,000000:

0

T,M = {¢(0) | ¢: (—e,¢) — M : O, c(0) = p} = span«a‘;)p,...,(%)p}.

goodd

00 12.5. 00 X:C®(M)—C>®(M)0 M OO 00000 00,00000000:

(i) X ooooo,
(i) 0000000000 0,0000,VYf,ge C®M), X(fg)=X(f)g+ fX(9).

000 MDOOODOOOODOOO X(M)000.



00 12.6. JOODOOO,00000000D0ODOOODO. ODOO,XUOO0OOoOooOooOg,
00 peMOO0O0,00000 X,eT,MOOO0O0O0O0O0OO:

Xp: OF(M) = R: f = (Xf)(p)-

0 12.7. 0000000O00000000000000000. 0000, (U,¢)0 MOOOO
000, ¢=(z,...,2,) 00000,000 f;eC®WU)000000UDD0O00000:

- 0 - 0
;fiaxi ‘P ;fi(p)(a$i)p-

000000 bracket O
00000000 ¥(M)0DO (D0O0O0O0)0O0O0O0O0DODO0OOO0OOO. ODODOOOOOO0O,00
gooooo:
aX +bY :C®(M) - C(M) : f—a(Xf)+bY[).

00 128. X, YO M OOODOOOOO0OOO0O0O, [X,)Y]:=XoY-YoX O MOOOOOO
0000 (D00DO00O00O0O bracket 0 OOO).

goon

00 12.9. C*~-000 F: M —-NO peMODOO OOOO OOOODOOO:

(dF), : T,M — TrppyN v (dF)p(v), (dF)p(v):C®(N)—=R: fr—uv(foF).

0 12.10. 00000 ¢(0) € T,M (000 ¢:(—e,e) — M)DD0O0O,C>®-000 F: M — N
0peMODOOODO0O0OD000: (dF),(¢(0)) = (Foc)(0).

gooooood

00 12.11. GOOooooo.ooog,
(1) 0 geGOOODO,00 ¢g000 000 000: Lyg:G— G:hw gh,
(2) 00000 XeX(G)0 000 00,00000000: YgeG,Vfel®(G),
X(foLy) = (Xf)oL,

00 12.12. 00000 X e ¥(G)0000,00000000000:
(1) Xoooao,
(2) Yg,h € G, (dLy)n(Xn) = Xgn,
(3) Vg€ G, (dLy)e(X.)=X, (000 e0D0ODO).



13 000 D(2010/12/22): 000000000000 (2)

00 13.1. GO00000000,000000000000D0D0OO0O0OO0O0ODD (DDODO
GO00000000 000,g000).

00 13.2. 00 g0 bracket OO0OOOOO0OOO0OODODOO.

00 13.3. 000 GoOO0d,g—T.G: X — X, 0000O0O. 00 dimg=dimG 000
go.

goon

00 13.4. GOODOOOO,geGOOO.
(1) I,:G—G:h—ghg™' 0 ¢g000 000000 OOO.
(2) Ad, = (dl,).:T.G—-T.GO ¢g000 0000 0O0OO.
(3) ad := (dAd). : T.G — gl(T.G) 0 00OD0O 0OO00O. 00ODOODO00, g(7.G) 0 T.G OO
7. 000000000000000000.

00 13.5. 000 GUO0O0O0O,T.GOOO [u,v]:=ad,(v) DO00D0DO0O,GOOODOO g
goo.

000000000000.0 XegOOOO, X, 0000000000000 ¢x 0000
0000.0000,¢x:(—6e) - G0 C®-00000, cx(0)=e, ¢x(0)=X, 0000 (O
00000000000000,000000000000).

00 13.6. VX,Y €g,Vf e C®(G),Yge GOOODO,000000:

(1) (X)) = g flgex(®))le=o,
(2) (X, Y1)(9) = & & flgex (t)ey (s)(ex ()™ |s==o-

g

0 13.7. 00000 GOUOOO0,0000000000 Lie(G)0,000000000D000O00
oboog g, 00b000O0bDOO.

0 13.8. 000 G 0 G, 00000000, 00000000 ¢10 go0O0ODO.

0 13.9. 000 O0000O0OCOO0O0O0O00OOO gOODO.



14 000 D(2011/01/19): 0OOODOOO0O0OO0O (3)
ooono

00 14.1. M O ¢>~-000000,R>I0000000. 0000000 ¢:1—MOOO
D00 Xe€X(M)0O 0000 00,00000000:Vtel,d(t)=X).

00 14.2. 000 X eX(M)0O peMOOOO,000000: 3le: (—e,e) = M : C™ s.t.
c(0) =p.

gogoooood

00 14.3. GOOODOODOOO. 00 ¢:R—-G0O 000000 (one-parameter subgroup)
gd,dodgggoogd:

(i) cO C-0O,

(i) cOODOO.

00 144. GUOOOOOO g0O000,000000:VXeg, dlex:R—-G: 000000
s.t. (0) = Xe.

0000000000, ex(t) =exp(tX)0OODOODDOODDOOODOO. ODDODDO,000
goooobogoobooboobo,0ogbboobooobuooboboobooboobooon.

00 14.5. exp:g—G: X —cx(1) 0000 GO OOO0O OOO.

googogoo

00 14.6. 00000000 exp O C*-000000,g0 000000 GO e0OOOODO
0 C>*-000oong.

00 14.7 (Baker - Campbell - Hausdorff). ¢t — 0 000, exp(tX)exp(tY) = exp(Z(t))
0000,Z(¢)0 X, YOOooooooooooo.

00000000000 Z() =tX+Y)+ (t?/2)[X, Y]+ (#3/12)[X - Y, [X,Y]] +--- OO
0.0000000000000000000.

00 14.8. 0000ODOOOD g1 0 go OOODODOO,000 GO G OOODODODODO.

O00000000000: Gi0e00000 GO eOOO0ODOOO C*-000,00000
O0000000. D0000O000O000O0,000000000000000 (OO 14.7) O
oooooo.



15 000 D(2011/02/02): 0000000000
ogooooo

00 15.1. C>*-0000 MOOOO,¢g0 000000 00,00000000:0 peM O
000,g,:T,MxT,M -RO0ODO.

C>~-0000 MUOOOODDOOD g0O0O (M,g) O ODODOOD0O O0OO. OD0O0OOOOOO
ooo,0j0bo0obooobooboobbooboob0bo0o. obbooboobo,ooboo
gooboooogo.

ugobgdg

00 15.2. 000 GOO0O0O0OOOg g OO0 O0,00000000: Va€eG,VX,,Y, €
Ter ge(Xea}/;) = ga((dLa)e(Xe)v (dLa)e()/;))‘

00 15.3. 000 GU00O0O0ODODODOOCOCOOO,00000000O00C0C00COOO0O0O0O0,1:1
goooo.

guooooood

0oo0o0,00000000 (g,(,)) 000000O0O0ODO0OOO,00000.

00 15.4. 00000 V:igxg—g:(X,Y)—VxY O Levi-Civita 00 00000, 00
Oo0oood: 000 X, Y. ZegOOOO,

00 15.5. 0000000 R:gxgxg—g:(X,Y,Z)—» RX,Y)Z0 000000 00O:
R(X,Y)Z = Vixy)4 —VxVyZ+VyVxZ.

00 15.6. g 00 2000000 ¢0000,00 ¢ 0000 0000 000: K, =
(R(X,Y)X,Y), 000000 {X,Y}O ¢ 0000000,

00 15.7. 0000000 ric:gxg—gO0 00000 000: ric:= S(RX, E)Y, E;), O
00000 {E}0 gO0000000. 00 (g,(,)0 00000000 00000, ric000
ooooooooo.

0 15.8. 000000 o(3) 000 (X,Y) = (1/2tr(!XY) 0000. 0000000000:
K,=1/400 rie(X,Y) = (1/2)(X,Y). 0000,0000000000,000000000
oo.



